Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
" . 2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

50, will be treated as malpractice.
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USN
Third Semester MBA Degree Examination, Dec. 2013 / Jan. 2014
- Operations Management
Tim: 3 hrs

; ) Max. 1\%@: 100

i Note: 1. Answer any THREE questions, from Part A. ;:Ej:
*f; 2. Part B and Part C are compulsory. % .
¥ i
Qfx} PART - A Platd
1  a Define 0 jons Management. _ {a?“-aé (03 Marks)
b. Explain the gerial uses and limitations of Break Even . 1s. {07 Marks)
¢. A manufactur ritical components for Two — Wheelets in the automotive sector is
interested in for% g the trend of demand during &lleieﬁext year as a key input to its
annual planning exe E:/The past sales for the last,t(h;ee years are given below :
PERIOD | ACTAJAL DEMAND | PERIOD | ACTUAL DEMAND
Year 1: Ql Q%O Xepp?2: Q3 387
Year 1 : Q2 x, Yéar 2 : Q4 464
Year 1 : Q3 359“"" ., . | Year 3:Ql 505
Year | : Q4 406 wﬁ Year 3 : Q2 618
Year 2 : Ql 39} "~ | Year 3: Q3 443
Year 2 : Q2 Year 3 : Q4 540
Extract the trend componens.af t] the time ser1@ a using linear regression and use it for
predicting the future de PG f year 4. é (10 Marks)
2 a (03 Marks)
b. (07 Marks)
C. as 5--__: data obtained by a work
samphng 5 : Total No. of observations = 2500 ; No. of g observations = 2100
No of gﬂ\.%bf‘produced in 100 hours duration = 6000 units ; P af¥priion of manual labour
roportlon of machine time = 1/3 ; Observed rating fa o = 115 % ; Total
all 12% of normal time. «o" . (10 Marks)
1;5«
3 v‘“"ijientlcm the variables affecting labour productivity. * 4" 4D3 Marks)
'J;k Discuss the ‘CHASE’ and ‘LEVEL’ strategies of aggregate production planning?.{07.Marks)

- ¢. Calculate the vendor rating for the following. The item under consideration is the sanie 4Tom

all suppliers.

DATA A B C
Quantity Supplied 15 10 1
Quantity Accepted 12 9 1
Price of each item Rs 15 Rs 19 Rs 21
Delivery promised 6 weeks | 6 weeks | 6 weeks
Actual deliveries made | 8 weeks | 6 weeks | 7 weeks

Weightage for quality = 70% . Price = 20% , Delivery = 10%.

4 a. Whatis Lead Time?
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b. Enumerate the descriptive characteristics of service operations. (07 Marks)
c. Mention and explain the elements of operations strategy. (10 Marks)
a. State any three factors affecting facility location decision. (03 Marks)
b. Differentiate between products and services. (07 Marks)
c. Compute the Composite Break Even Point (quantity) for multi product situations andﬁ‘-&-
Individual Break Even Point. (10 l\%‘rks)
g DATA PRODUCTS M‘%’a
___J,&&,)" . A B C D - . m._!
£ ?3 | Selling price perunit (Rs) | 10 | 20 | 15 10 t:f% ‘
e Variable cost per unit (Rs) | 6 15 9 6 ol
o, Sales volume (units) 1000 | 2000 | 1000 | 10
The T%T}ﬂ%ed cost is Rs 4800. ~

X QO
What is Ma@_lfRequirements Planning? \@/ (03 Marks)
Comment on tKe ?xors involved in the delivery of servic % (07 Marks)
. A manufacturer 6f43rm equipment is considering 3 loc ﬁ; — A, B and C for a new plant.
Cost structure shows%?the variable cost at the sites.are Rs 100 per unit. Rs 90 per unit and
Rs 95 per unit respect 29 If the plant is designé@ﬁ) have an effective capacity of 2500
units per year and is expec" wl to operate at 6%% efficiency , which is the most important
location on the basis of ac 1@’ utput. As the fixed costs per year at the sites are
Rs 240000, Rs 270000 and Rs 252900 r@pctively. Also determine the range of annual
volume of production for whic @w of the locations A, B and C would be most
economical. Y (10 Marks)
g:&; e
%  PART i E

a. The manager of a Comm a\gal Bank must é the mumber of ATM machines to be

installed in an ATM cofififer. Each machine n process 100 customers per day. One
machine will result in.g*fixed cost of Rs 2000 per d hile two machines will result in a

om

fixed cost of Rs 3 ver day. Variable costs will be RS 2() per customer and revenue will
be Rs 45 per ¢ r.
i) Determi e]& Break Even Point for each range. e’ﬁx
iy If esti demand is 90 to 120 customers per day, hoﬁ)/mq’gy machines should be
pur d? Q (05 Marks)
b. The table shows the monthly demand over 6 months period for a produef.
O Month 1 [27 73 [4 5 e ‘5‘}(%
> Demand (units) [ 120 | 130 | 110 | 140 | 110 | 130 S

. fff‘_‘i‘)etennine the forecast of demand for the 7 month using 3 month simple rﬁ&fmg average
“*" method. (05 Marks)
*.¢. A work sampling study is to be made of a typist pool. It is felt that typists are idle 4% of
the time. How many observations should be made in order to have 95.5% confidence so that
the accuracy is within + 4%? (Given C = 2 for 95.5% confidence level). (05 Marks),
d. A firm has four work centres — A, B, C and D in series with individual capacities in units <
per day shown below :

RAW MATERIALS _, A »[ B c D I ACT3L{;6\)L QUTPUT
(

(450) (360) (340) (400)
i} Identify the bottle neck centre.
i) What is the system capacity?
i1} What is the system efficiency? (05 Marks)
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PART - C

8 a A two wheeler component manufacturing unit uses large quantities of a component made of
steel. The annual demand for the component is 2500 boxes. The company procures the tem
from a supplier at the rate of Rs 750 per box. The company estimates the cost of carying
inventory to be 18% per unit per annum and the cost of ordering as Rs 1080 per order. The

_____ company works for 250 days in a year. Design and inventory control system for L

.4#) This item by calculating the economic order quantity and number of ordex {0 be placed.
A e

P oy (05 Marks)
e t is the overall cost of the plan, when you focus on the c?%iﬁef*econonﬁc order

q ity? B (05 Marks)

iii) The sdppiier is willing to offer a discount of 2% on the unit ”Q‘;Tué\for 400 boxes. Should
the dis offer be accepted? Give reasons. e (05 Marks)

b. Write a note jAB,,»C analysis. L S ;a (05 Marks)
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